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Unit 3: Aggregate Supply and Aggregate Demand
(National Income and Price Determination)
Exam Date: 

Graphing, Friday, March 11
Multiple Choice, Monday, March 14
Advanced Placement Macroeconomics Unit3 - Overview - Aggregate Supply and Demand
Test Dates (Within a day or two)
Part 1
Graphing Test:  Friday, Mar 11th 

Multiple Choice Test:  Monday, Mar 14th
Textbook Pages

1.  Chapter 8 - page 147, the beginning of the chapter to page 153 up to but not including "The Interest-Rate-Investment Relationship"

2.  Chapter 8 - page 158, "The Multiplier Effect" to the end of the chapter on page 162.

3.  Chapter 10 - all

Graphs

Key Graphs 1 - 20
Key Concepts

Aggregate supply, aggregate demand, aggregate supply model, aggregate demand model, equilibrium national output, general price level, determinants of aggregate demand, components of aggregate demand: consumption, investment, government spending, net exports; spending multiplier, determinants of aggregate supply, shortrun

aggregate supply curve, longrun aggregate supply curve, sticky price model, sticky wage model, equilibrium income, equilibrium price level, real output, real price level, actual employment, full employment, economic fluctuations.

Crucial Activities - Resources

1.  Notes - Chapter 10 - Aggregate Demand and Aggregate Supply - Part 1:  Aggregate Demand (pg 188 - 191)

2.  Problems in Aggregate Demand

3.  Notes - Consumption, Saving, and the Multiplier Effect

4.  Macroeconomics Lesson 1 Activity 20 Practice with APC, APS, MPC and MPS

5.  The Multiplier Effect (Key Question #9 - Chapter 8)

6.  Notes – chapter 10 – Aggregate Demand and Aggregate Supply – Part 2:  Aggregate Supply (Pg 192-196)

7.  Problems in Aggregate Supply

7.  Notes – Aggregate Equilibrium 

8.  Macroeconomics Lesson 5 Activity 25 Short-Run Equilibrium Price Level and Output

9.  Unit 3 Practice test

Name ______________________________________________________________ Hour  _______________

Notes - Chapter 10 - Aggregate Demand and Aggregate Supply - Part 1:  Aggregate Demand (pg 188 - 191)

I.  Aggregate Demand (AD)

	A.  Aggregate Demand (Define it):

2.  Price level and the amount of real GDP     

demanded are (Circle the correct word and cross out the incorrect) POSITIVELY / NEGATIVELY related.

     a.  When the price level rises (inflation), the        quantity of real GDP demanded ….

     b.  When the price level falls (deflation), …


	1.  Draw and fully label the Aggregate Demand Curve (Figure 10.1)




B.  Aggregate Demand Curve


1.  Why the downward slope of the demand curve? (The answer is a to c below, so take notes on each)



a.  The Real-Balances Effect (explain it):



b.  The Interest-Rate Effect (explain it):




c.  The Foreign Purchases Effect (explain it):

II.  Changes in Aggregate Demand

	A.  Changes in price level (inflation or deflation) cause movement along the existing AD curve.

B.  Factors that cause the entire AD curve to shift 

are called _______________________________

_______________________________________

or, less formally,  _________________________

_______________________________________


	C.  Draw and fully label an increase or decrease in AD (Figure 102)




B.  Determinants of Aggregate Demand

1.  Consumer Spending (C - Consumption)

a.  An increase in consumer spending / consumption will shift the AD curve to the (circle the correct word & cross out the incorrect word) LEFT / RIGHT.


b.  A decrease in consumer spending / consumption will…


c.  Factors that influence consumer spending / consumption



1.)  Consumer Wealth (Explain what it is):

a.)  An increase in consumer wealth will (circle the correct.  Cross out the incorrect) INCREASE / DECREASE consumer spending / consumption




b.)  A decrease in consumer wealth will…




c.  This is called the _________________ effect



2.)  Consumer Expectations

a.)  Expectations of higher future income or higher future prices will INCREASE / DECREASE consumer spending / consumption now.

b.)  Expectations of lower future income or lower future prices will…

3.)  Household Debt

a.)  An increase in household debt will INCREASE / DECREASE Consumer spending / consumption


b.)

4.  Personal taxes


a.)


b.)

2.  Investment spending - (Ig) (explain it.  Look back to page 108 - 109 if you have to):


a.  An increase in investment spending will shift the AD curve to the LEFT / RIGHT


b.  


c.  Factors that influence Investment Spending

1.)  Real Interest Rates (Note:  Remember that businesses borrow money to buy capital.  They then have to pay that money back with interest)


a.) An increase in real interest rates will INCREASE / DECREASE investment spending


b.)  

2.)  Expected Returns (This is the profit that businesses expect to make from investing in capital)


a.  Higher expected returns will INCREASE / DECREASE investment spending


b. 

c.  Factors that influence the expected rate of return (List the missing ones and explain each as sufficiently as you need to in order to answer questions about them later)

i)  Expectations about future business conditions

ii)  Technology

iii)

iv)

3.  Government Spending (G)


a.  An increase in government spending will shift the AD curve to the LEFT / RIGHT


b.

4.  Net Exports Spending (Xn)


a.  An increase in Net Export Spending will shift the AD curve to the LEFT / RIGHT


b.  


c.  Factors that influence Net Export Spending



1.)  National Income Abroad




a.)  Rising national income abroad INCREASES / DECREASES net export spending




b.)



2.)  Exchange Rates




a.)  Depreciation of the dollar INCREASES / DECREASES net export spending




c.)  Appreciation…

NOTE - We will spend much more time talking about international trade and exchange rates later in the 
course.

Name ____________________________________________________  Hour ___________

Problems in Aggregate Demand

Directions:  Read each scenario and fill in the information requested at the top of each column.

1.  The Government greatly increases its purchases of nuclear submarines.  

	Factors that influence the Determinants of Aggregate Demand (Draw up or down arrows to indicate which factor is effected and how.  If none of these factors in effected, draw an X over this table)
	
	Determinants of Aggregate Demand (Draw up or down arrows to indicate which is effected and how.  If none are affected, draw an X over this table)
	Changes in Aggregate Demand (Draw the appropriate shift in AD.  Include and label both axes, AD1 and AD2, and use an arrow to show movement.  If AD does not move, draw AD1 only)

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


2.  A terrible year in the stock market and the housing market has greatly decreased the value of people’s stocks and homes. 

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


3.  Labor unions overseas win large increases in workers salaries.

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


4.  The quality of new technologically advanced production robots has greatly increased.  

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


5.  People start borrowing money like there’s no tomorrow!

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


6.  Business owners are considering purchasing new capital but realize that they already have a large amount of excess capital available

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


7.  Consumers fear another economic great depression is coming

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


8.  The dollar appreciates in relation to foreign currency

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


9.  The US Government reduces all personal income tax rates (everyone's taxes are now lower)

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


10.  The government greatly reduces its spending on national defense.

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


11.  Businesses owners believe that good economic times are ahead with many opportunities to make profits.  

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


12.  The overall price level falls (Careful! Trick question!)

	National 

Income 

Abroad


	Personal 

Taxes
	Household 

Debt
	Real 

Interest 

Rates
	
	C – Consumption
	Ig – Gross 

Investment
	

	Expected 

Rate of 

Return
	Consumer 

Expectations
	Consumer 

Wealth
	Exchange Rates (Check one) 

__ $Depreciates

__ $Appreciates


	
	G – Government 

Spending
	Xn – Net 

Exports
	


Name _________________________________________________________  Hour ____________
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Notes - Consumption, Saving, and the Multiplier Effect
I.  Disposable Income  


A.  Disposable Income:

B.  DI = 


C.  DI = 

	II.  Average Propensities

A.  Figure 8.2 (With Table 8.1 on separate page)
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	B.  The Income Consumption Relationship

	
	1.  As disposable income increases …



	
	2. As disposable income decreases…



	
	C.  The Income Savings Relationship

	
	1.  As disposable income increases …



	
	2. As disposable income decreases…



	
	D.  Average propensities to consume and save

	
	1.  The Average Propensity to Consume (APC):

a.  APC =



	
	2.  The Average Propensity to Save (APS):

APS =



	
	3.  Since all income is either consumed or saved, APC + APS =

	
	E.  The Income APC Relationship

	
	1.  As disposable income increases …



	
	2. As disposable income decreases…




	F.  The Income APS Relationship

	1.  As disposable income increases …



	2. As disposable income decreases…



	3. In other words…




III.  Marginal Propensities

	A.  The Marginal Propensity to Consume and save.

	1.  The Marginal Propensity to Consume (MPC):


	     MPC =

	2.  The Marginal Propensity to Save (APS):


	     MPS = 

	3.  Since all income is either consumed or saved, MPC + MPS = 

	a. In our example, MPC =                   , and MPS =                           for every increase in Disposable Income.

b. The MPC =                                       c.  MPS =                             d.  Do Example on the Separate Page




IV.  Determinants of Changes in Consumption and Savings

	A.  Changes in Consumption
	C.  Determinants of Changes in Consumption and Savings (Note - You already know these from your outline on Aggregate Demand!)
1.  Consumer Wealth - as consumer wealth increases, consumption INCREASES / DECREASES and savings INCREASES / DECREASES.

2.  Consumer Expectations - As consumers expect higher future income or higher future prices, consumption INCREASES / DECREASES and savings INCREASES / DECREASES.

3.  Household Debt - As household debt increases, consumption INCREASES / DECREASES and savings INCREASES / DECREASES.

4.  Personal Taxes - As personal taxes increase (careful with this one) consumption INCREASES / DECREASES and savings INCREASES / DECREASES.
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	B.  Changes in Savings
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Notes - Consumption, Saving, and the Multiplier Effect - CONTINUED
V.  The Multiplier Effect

	A.  An initial increase in C, Ig, G, or Xn causes AD to increase by more than that initial increase

C.  Explanatory Example - An increase in C ( an increase in income for whoever sold those consumer goods  ( increased consumption by that person ( an increase in income for whoever sold those consumer goods ( increased consumption by that person, and so on.


	B.  Figure 10.2
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	D.  Table 8.3
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	E.  Figure 8.8
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F.  The overall increase in aggregate demand is determined by multiplying the initial increase in C, Ig, G, or Xn by the Multiplier.
1.  Multiplier =    



or                

2.  Multiplier = 

G.  Example:  1.  Multiplier in our example is:  



2.  Initial increase in Ig is:



3.  Total increase in Aggregate Demand is:

H.  Drains or leaks on the multiplier effect (which make it smaller than the formula states)


1.


2.

Table 8.1
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Name ____________________________________________________  Hour ______________
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Name ___________________________________________________ Hour _____________

The Multiplier Effect (Key Question #9 - Chapter 8)

1.  What is the multiplier effect?

2.  What is the relationship between the size of the MPC and the size of the multiplier?

COMPLETE THE ANSWER:  “A large MPC causes …

3.  What is the MPS (do NOT just say the Marginal Propensity to Save)?

4.  What will the multiplier be when the MPS is…

	a.  .2?


	b. .4?
	c.  .6?
	d.  .8?


5.  What will the multiplier be when the MPC is 

	a.  .8?


	b.  .90?


	c.  .67?


	d.  .50?


	e.  .6




6.  How much of a change in GDP will result if firms increase their level of investment by $8 billion and the MPC is… 

	a..  .80?


	b.  .67?




Name ______________________________________________________________ Hour ________________

Notes – chapter 10 – Aggregate Demand and Aggregate Supply – Part 2:  Aggregate Supply (Pg 192-196)

I.  Aggregate Supply

A.  Aggregate Supply (Define it):

1.  Long-run:

2.  Short-run:

	II.  Aggregate Supply in the Long Run

A.  Short-run supply curves slope ________________ because at higher prices, producers will make 

“______________________" by making and selling more goods.  

B.  However, in the long-run, higher prices lead to  ______________________(& other resource prices).

C.  Therefore, it now costs firms more to make more goods.  The "extra-profits" are erased by the higher wages they must pay, so they no longer make "extra-profits" by making more.

D.  So, they go back to making what they were before the higher prices, which is …


	E.  Draw and fully label the Long-Run Aggregate Supply Curve (Figure 10.3)


	III. Aggregate Supply in the Short Run

A.  In the short run, before wages increases catch up with price increases, “extra profits” are possible from extra output.  

C.  So producers will produce __________________ at higher prices.  

D.  Therefore, the short-run aggregate supply curve slopes UPWARD / DOWNWARD from left to right
E.  As price level increases, the supply of real output (GDP) INCREASES / DECREASES

F.  As price level decreases, the supply of real output INCREAESES / DECREASES

G.  Price level and the amount of real GDP supplied are POSITIVELY / NEGATIVELY related.  
	H.  Draw and fully label the Short-Run Aggregate Supply Curve (Figure 10.4)


IV.  Changes in Aggregate Supply (pages 193-196).

	A.  Changes in price level (inflation or deflation) cause movement along the existing AS curve.

B.  Factors that cause a shift of the aggregate supply 

curve are called  ______________________________ 

_______________________or __________________

__________________________________________.

C.  Per-unit Production Costs:  The cost of making each unit of a product to sell.  

D. Per-unit Production Costs =

(pg 193)

E.  Changes that decrease per-unit production costs shift the AS curve to the LEFT / RIGHT

F.  Changes that increase per-unit production costs shift the AS curve to the LEFT / RIGHT


	G.  Draw and fully label an increase and decrease in AS (Figure 10.5)


H.  Determinants of Aggregate Supply

1.  Input Prices


a.  An increase in input costs will shift the AS curve to the left


b.  A decrease in input costs will shift the AS curve to…


c.  Factors that influence overall input costs.



1.)  Domestic Resource Prices




a.) Increases in the cost of land, capital, and especially labor INCREASE / DECREASE 



input prices.  




b.)  Decreases in the costs of land, capital, and labor …



2.)  Prices of Imported Resources




a.)  Increases in the costs of imported resources (like oil, tin, copper) will INCREASE / 



DECREASE input costs.




b.)  Decreases in the costs of imported resources…



3.)  Market Power (Explain it:)




a.)  An example of an organization that has great market power over oil prices is…




b.)  An increase in market power INCREASES / DECREASES input prices




c.) A decrease in market power …

2.  Productivity:  How much output can be made from a given amount of input.


a.  Productivity = 


(copy the formula)


b.  An increase in productivity will shift the AS curve to the LEFT / RIGHT


c.  A decrease in productivity will shift the AS curve to the LEFT / RIGHT


d.  The main source of productivity advance is …


e.  Another sourced is a better educated / better trained workforce.

3.  Legal - Institutional Environment

a.  A favorable legal - institutional environment will shift the AS curve to the LEFT / RIGHT


b.  An unfavorable legal - institutional environment will shift the AS curve to the LEFT / RIGHT


c.  Factors that make up the legal - institutional environment



1.)  Business Taxes and Subsidies




a.)  An increase in business taxes or the removal of a subsidy would contribute to 




a(n) FAVORABLE / UNFAVORABLE legal - institutional environment.




b.)  A decrease in business taxes or granting of a subsidy would contribute to…



2.)  Government Regulation




a.)  An increase in government regulations would contribute to a(n) FAVORABLE / 



UNFAVORABLE legal - institutional environment.




b.)  A decrease in government regulations would contribute to …
Name _______________________________________________ Hour ______________________

Directions:  Reach each scenario and fill in the information requested at the top of each column

Problems in Aggregate Supply

1.  Great advances are made in the quality of assembly line robots.

	Factors that influence the Determinants of Aggregate Supply (Draw up or down arrows to indicate which factor is effected and how.  If none of these factors is effected, draw an X over this table.
	
	Determinants of Aggregate Supply (Draw up or down arrows to indicate which is effected and how.  If none are affected, draw an X over this table
	
	Per-unit Production Cost (Draw an up or down arrow to indicate whether the cost of production have gone up or down
	Changes in Aggregate Supply (Draw the appropriate shift in AS (short run).  Include and label both axes, AS1, AS2 and use arrows to show movement.  If AS does not move, draw AS1 only)

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


2.  US Labor unions win raises for workers in most industries.

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost

 of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


3.  The price of crude oil from overseas increases.

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


4.  The government lowers business taxes across the board.

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


5.  OPEC increases its hold over the supply of crude oil.  

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


6.  The quality of worker training and education improves.

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


7.  The price of imported resources (like tin, copper, and oil) decrease.

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


8.  The government puts a number of new business regulations in place.

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government 

Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


9.  OPEC disbands

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


10.  The government ends all subsidies

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


11.  The overall price level increases (Careful!)

	Market 

Power
	Domestic 

Resource 

Prices
	
	Input Prices


	
	Per-unit 

production 

cost 

(or cost 

of production)
	

	Prices of 

imported 

resources
	Government Regulations
	
	Productivity


	
	
	

	Productivity 


	Business…(check one & draw an arrow)

___       TAXES 

___SUBSIDIES
	
	Legal – Institutional Environment (check one)

__          FAVORABLE

__ UNFAVORAVBLE
	
	
	


Name ______________________________________________________________  Hour _____________
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Notes – Aggregate Equilibrium

	Equilibrium


	Equilibrium Price and Quantity (GDP output)
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AD-AS Model

Changes in 

Aggregate 

Demand

Aggregate 

Supply

Changes in 

Aggregate 

Supply

Equilibrium and 

Changes in 

Equilibrium

Increase in AD

Decrease in AD

Decrease in AS

Increase in AS

Last Word

Appendix

Key Terms

End Show

Equilibrium and Changes in 

Equilibrium

Real Output

Demanded

(Billions)

Price Level

(Index Number)

Real Output

Supplied

(Billions)

$506

508

510

512

514

108

104

100

96

92

$513

512

510

507

502

Tabular View…

Equilibrium Price Level and

Equilibrium Price Level



	1.  Market equilibrium is established where the AD and AS curves …

2.  Together, these curves determine the _____________________________________ and ________________________________________

3.  At a price level of 92 (GDP price index = 92), quantity demanded would be _______________________________________________________, 

but quantity supplied would be ___________________________________________________________________.  This is a ...

4.  As a result, prices go UP / DOWN ( quantity demanded UP / DOWN; quantity supplied goes UP / DOWN until equilibrium is reached.

5.  At a price level above 100 (something like GDP price index = 110), quantity demanded would be _____________ but quantity supplied would be 

____________________.  This is a …

6.  As a result, prices go UP / DOWN ( quantity demanded goes UP / DOWN; quantity supplied goes UP / DOWN until equilibrium is reached.  


	Increases in Aggregate Demand

[image: image19.emf]
1.  _________________ in C, Ig, G, or Xn cause AD to shift to the right.

2.  Effect on Real Output (Real GDP):  INCREASE / DECREASE

3.  Unemployment effect:  INCREASE / DECREASE

4.  Business Cycle Phase:  

      a.  Likely type of unemployment:

FRICTIONAL      STRUCTURAL       CYCLICAL

5.  Effect on the price level:  INFLATION / DEFLATION

a. Here, the increase in demand pulls up prices.  

      b.  Therefore, Inflation that occurs because of an increase in demand

      is called …

      c.  Multiplier Effect:  

               1.  Qf ( ________, not to ________


	Decreases in Aggregate Demand

[image: image20.emf]
1.  ____________________in C, Ig, G, or Xn cause AD to shift the left.

2.  Effect on Real Output (Real GDP):  INCREASE / DECREASE

3.  Unemployment effect:  INCREASE / DECREASE

4.  Business Cycle Phase:  

      a.  Likely type of unemployment:

FRICTIONAL      STRUCTURAL       CYCLICAL

5.  Effect on Equilibrium price level:  

INFLATION /  DEFLATION

6.  Effect on Actual price level:  

Homework:  Be sure you carefully read pages 198 - 199 and take careful notes at the end of this packet as to why this is the case for the test.  

       a.  Multiplier Effect:  

              1. Qf (  _______, not _______



	An increase in Aggregate Supply (No Correct Image Available.  You must reverse the direction by hand)
[image: image21.emf]
1.  _________________ in Input Prices, _________________ in 

Productivity, or ________________________ Legal - Institutional Environment cause AS to shift to the right.

2.  Effect on Real Output (Real GDP):  INCREASE / DECREASE

3.  Unemployment effect:  INCREASE / DECREASE

4.  Business Cycle Phase:   

      a.  Likely type of unemployment:

FRICTIONAL      STRUCTURAL       CYCLICAL

5.  Effect on Equilibrium price level:  

INFLATION /  DEFLATION

6.  Effect on Actual price level:  
	A decrease in Aggregate Supply

[image: image22.emf]
1. _________________in Input Prices, _________________________ in 

Productivity, or _____________________________ Legal - Institutional Environment cause AS to shift to the right.

2.  Effect on Real Output (Real GDP):  INCREASE / DECREASE

3.  Unemployment effect:  INCREASE / DECREASE

4.  Business Cycle Phase:  

      a.  Likely type of unemployment:

FRICTIONAL      STRUCTURAL       CYCLICAL

5.  Effect on the price level:  INFLATION / DEFLATION

      a.  Here, the decrease in supply pushes up prices.  

      b.  These decreases in supply are often the result of…

              1.) Example:  

c.  Inflation that occurs because of a decrease in supply is called… 


	Everything Good – Draw Economic Growth, Full Employment, with Low-inflation




Reasons for "Sticky Prices," prices, prices are not flexible downward (Page 198 - 199).

1.

2.

3.

4.

5.

Name _________________________________________________________  Hour _______________
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